Write the equation of a line, in slope intercept form, that is parallel to
y = 3x - 4 and passes through the point (-1, 3)
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Write the equation of a line in slope intercept form of a line that is
perpendicular y = 3x - 4 and passes through the point (-6, 1)
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Find the length of segmet AB ifA (2, 6) and B (-3, 9)
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State the postulate or theorem you would use to prove each pair of triangles

congruent. If the triangles cannot be roved congruent, explain why.
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Solve for each variable
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Solve for each variable
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Given: <4=< 5,@5@

Prove: <2=<3
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